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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.
(2) Calculations and explanation if required are to

be shown with the relevant answers.

1 "Yash' Ltd. manufactured and sold 2000 instruments for 20
the year ending Dt. 31-3-2018. Summarised Trading and
Profit and Loss Account for the year is as under :

Particulars Rs.| Particulars Rs.
To Direct materials 8,00,000 | By Sales 31,00,000
To Direct wages 12,00,000
To Manufacturing charges 6,00,000
To Gross profit (?) 5,00,000

31,00,000 31,00,000
To Administrative By Gross profit 5,00,000
expenses :
Fixed : 2,00,000
Variable : 40,000 2,40,000
To Selling expenses :
Fixed : 20,000
Variable : 80,000 1,00,000
To Net Profit (?) 1,60,000

5,00,000 5,00,000

For the year 2018-2019, it is estimated that :

(1) Production and sales will be of 2500 instruments.

(2) Price of material will rise by 25%.
(3) Wages rate will rise by 10%.

(4) Manufacturing charges will increase in proportion to

the combined cost of materials and wages.

Prepare an estimated cost sheet, showing the price at

which instruments to be sold in 2018-2019 as to earn a profit

of 20% on selling price.

BBD-002-001303]

OR
7

[Contd...



1  Following information has been received from the books 20
of Mantra' Ltd. for the year 2017-2018. Prepare cost sheet

on the base of it :

Amt. (Rs.)
Opening stock of finished goods...................... 1,52,000
Closing stock of finished goods ....................... 1,20,000
Opening stock of raw materials ......................... 51,200
Closing stock of raw material .................ooee. 54,400
Purchases ..., 11,68,000
Productive wWages ...........cooovvueeeeeiiiiie 7,95,200
SALES ... 23,68,000
Factory expenses ........cccooeeevvvvieeiiiiiiieeeeeeeeee, 1,74,944
Office eXPenses ........oeeeeeieieeeeeeeeeeeeee e 1,42,096

What price should the company quote to manufacture
a machine which, it is estimated, will require an expenditure
of Rs. 80,000 on materials and Rs. 48,000 on wages, so at
to yield a net profit of 25% on the total cost ?

Factory indirect expenses are dependent on direct
wages while office indirect expenses are dependent on

factory cost.

2 In a factory 'A', 'B' and 'C' are production departments 20
and 'D' and 'E' are service departments. Following are the
details for March, 2019 :

Amt. (Rs.)
Lighting ... 8,000
POWT e, 36,000
Factory Manager's Salary ..............ccccoovvvvueeeee.... 72,000
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Indirect 1abour .......cooommiiieeeee e 5,200
INSUTANCE .o 13,200
Canteen eXPenSes .....coooeueeieenieiieeeieeeeeeeeieeeennns 24,000
Rent and Taxes .....coooemeeeimeeeee e, 20,000
EST contribution ........cooooemneiiimeeeeee e 2,600
Depreciation.........cccooooveiiiiiiiiiiiiee e 66,000
Other Informations :
Particulars A B C D E
Direct labour (Rs.) 18,000 16,000 11,600 | 4,800 | 1,600
Value of Plant (Rs.) |2,88,000 |1,92,0001,44,000 | 4,800 [ 4,800
Light points 24 20 16 12 8
Horse power 16 24 8 - -
Space occupied (sq.ft.) 2,400 1,600 2,000 | 1,200 800
No. of employees 20 24 16 12 8
Proportion of time
spent by manager 20 16 12 8 4
Expenses of Service Deptt. D and E are to be distributed as
under :
Particulars A B C | D E
Departments - D 20% 30% 40% - 10%
Departments - E 30% 40% 30% - -

Prepare statement showing apportionment of indirect

expenses to production departments and also show the

distribution of service department expenses to production

departments.

OR
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2 In 'Multimode' Co. 'A', 'B' and 'C' are manufacturing 20
departments and 'D' is the service department. Details of
indirect expenses for August, 2019 are as under :

Amt. (Rs.)
Lighting ... 1,200
Plant depreciation ..............cccooeeiiiiiiiiiiiiiiiieeieeeinnn.. 5,400
Plant repairs .......o.cooiiiiiieeiieieee e 7,200
Rt oo, 12,000
POWT e 9,000
Worker's Welfare .......ooooeeee oo 1,800
Stock INSUTANCE ...coovniiiieeeee e 6,000
SUPErvision eXPenses ...........cccoeeeeeeieueeeeeiineeeeeennns 18,000
Particulars Production Dept. Service
Dept.
A B C D
Direct labour (Rs.) 48,000 | 36,000 | 24,000 | 12,000
Plant value (Rs.) 1,44,000 | 1,08,000 | 72,000 | 36,000
Value of stock (Rs.) 90,000 54,000 | 36,000 -
Actual power (Rs.) 3,600 2,700 1,800 900
Space occupied (sq.ft.) 900 660 540 300
No. of workers 144 96 72 48

Distribute overhead expenses to each department on
most appropriate basis.

3 (A) A worker is allowed 200 hours for executing a piece 10
of work, which he completes within 150 hours. He is
paid at the rate of Rs. 10 per hour.

The material cost of production is Rs. 750 and the

factory overheads are recovered at 50% of the total
direct wages.

(1)
@
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(B) The number of employees on the payroll 5
of a factory was 2,450 on 15¢ September, 2019. 150
workers left during the month and 250 workers were
recruited. The total number of employees on
30th September, 2019 was 2,550. Calculate Labour
Turnover under separation method and also find out

Equivalent Annual Rate.
OR

3 (A) A worker has been allowed to complete a work in 10
10 hours, but he completes the work in 8 hours. Labour

rate per hour is Rs. 20.

Calculate the payable wages according to as per

following methods :
(1) Halsey premium plan
(2) Rowan premium plan.
(3) Piece wage system.
(B) The following information has been obtained from the 5

production department of one factory.
(1) Workers as on 15t August, 2019 ................... 1,140
(2) Workers as on 31t August, 2019 ................. 1,260
(3) Number of workers who left factory

I AUZUSE ..ot 120
(49) Number of workers appointed on

eXISTING POSE i 60

Calculate Labour Turnover Rate by various methods.
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From the following information calculate Ordering 10

level, Minimum level. Maximum level and Average

level.
(1) Mininum usage per week ........................ 80 Units
(2) Maximum usage per week.................... 120 Units

(3) Maximum delivery period for
materials .........ccoooeeeiiiiiiiiee e, 90 Days

(49 Minimum delivery period for

materials .........ccoooeeeiiiiiiiiee e, 50 Days
(5) Economic Order Quantity ................... 2,400 Units
Annual consumption of materials are of 9,000 units 5

in company 'C'. Storing cost is Rs. 2. Cost of placing

an order i1s Rs. 90. Calculate economic order quantity.

OR
4  Write short notes : (any three) 15
(1) Advantages of Cost Accounting
(2) Characteristics of an Ideal Cost Accounting System
(3) Variable expenses and Fixed expenses
4) 'ABC' classification of material
(5) Objectives for installing Cost Accounting System.
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